Leibure 7: The logistiliance correction (2<sup>-d</sup> part)  
II. 4 2) The lower bound  
We prove have the following change result  
Popultion 18: On the service excels 
$$g > 0$$
 such that for the optimized means  
 $P(T_{k} > \lambda_{k}) - \frac{3}{2k} \log k - g | \text{servicel} \rangle > 4 - 2$ .  
We define  $m_{k} = \lambda_{k}k - \frac{3}{2k} \log k$ ,  
 $\lambda_{k} = \frac{m_{k}}{m}$  the clope of our barrier,  
 $K_{k} := \sum_{k \in V_{k}} \int \frac{4}{2k} (1) \ge m_{k} = 1 \int \frac{4}{2k} \int \frac{4}{$ 

$$\begin{split} & \underset{k=1}{\underline{\mathsf{L}}_{n=1}} \mathbb{E} \left[ \mathsf{L}_{k} \left[ 1 \\ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \left[ \mathsf{L}_{k} \right] \right] \right] = \mathsf{L}_{k} \mathbb{E} \left[ \mathsf{L}_{k} \left[$$

$$\begin{split} & \int_{-\infty}^{\infty} \sum_{k=0}^{\infty} \mathbb{E} \left[ d \mathbb{E}_{e} \left[ (1, t_{e}) \right]^{2} \left( d \mathbb{E}_{e} \left[ d \mathbb{E}_{e} \left[ (1, t_{e}) \right]^{2} \wedge d \right] \right] \\ & \leq \mathbb{E}_{e} \left[ (1, t_{e}) \wedge d \right]^{2} \left( d \mathbb{E}_{e} \left[ (1, t_{e}) \wedge d \right]^{2} \wedge d \mathbb{E}_{e} \left[$$

Together with lemma d and 2, we yet: there exists c>0 and to \$0 with that  
For any t>to, 
$$P(K_{1} \ge d) \ge c$$
.  
In pulsicular,  $Vt \ge t_{0}$   $P(K_{1} \ge d_{1}) \ge c$ .  
Step 2: Letting breach at the baymony to improve the lawer bound.  
Let  $\Sigma > 0$ . We must be prove that there exists  $g > 0$  with that for t layer  
enough  $P(T) < m_{1} \cdot m_{2} \cdot m_{3} = 0$ , (nore pairing),  $e^{-st} = V_{1} = 0$ ,  $S = 0$  and  $S = 0$ .  
Let  $0 \ge 0$ , we have  $N_{1} = \frac{s_{1}}{s_{1}} = 0$ , (nore pairing),  $e^{-st} = N_{1} = 0$ ,  $S = 0$ ,  $P(N_{1} \ge m_{1} \cdot m_{3}) = 0$ .  
On  $S$ , we have  $N_{1} = \frac{s_{2}}{s_{1}} = 0$ .  
On the attue to  $A$ ,  $P(m_{1} \times V_{1}(t) \ge -\lambda_{1}t) \xrightarrow{1 \to \infty} A$ , so there exists  $t_{1} \ge 0$   
such that  $P(A_{t_{1}} | S) \ge A - \frac{\varepsilon}{2}$  where  $A_{t_{1}} = \{N_{t_{1}} \ge m_{1}, \min_{X \in U_{1}} X_{1}(t_{1}) \ge -\lambda_{1}t_{3}\}$   
Now, let  $1 \ge k_{1} + k_{1}$ , we have  
 $P(T_{1} < m_{1} - m_{1}| S) \le \frac{\varepsilon}{2} + P(A_{t_{1}} \cap \{T_{1} < m_{1} - m_{2}\})$   
 $= \{V \cup S M_{t_{1}}, \max_{Y \in U_{1}} X_{Y}(t) < m_{1} - m_{2}\}$   
by the breaching property,  $\lambda_{1}$  and  $f = 0$ .  
So on  $A_{t_{2}}$ ,  $P(T_{1} \le m_{1} - m_{2} \mid F_{t_{2}}) \le T_{1}$ ,  $P(T_{1} = m_{1} - m_{2} + \lambda_{1}t_{3})$   
by the breaching property,  $\lambda_{2}$  and  $f = 0$ . The model of the matheta is the second of th

There were, and 
$$A_{L_{1}}$$
, we have  $N_{L_{2}} \ge r$ , so  $P(T_{1} \le m_{1} - g \mid T_{L_{2}}) \le (A - c)^{n}$ .  
The follows that  $P(T_{1} \le m_{1} - g \mid S) \le \frac{s}{2} + \frac{(A - c)^{n}}{P(S)} \le \Sigma$  if  $n$  is chosen large enough. **B**  
Additional details in the proof of terms 2 for the equality  
 $P\left(\left|\frac{B_{1}^{n} \ge m_{1}}{B_{1}^{n} - A_{1}} \le A\right|\right) = \mathbb{E}\left[\frac{1}{2} \sup_{i \in [N_{1}]} R_{i} - A_{i} \le A\right]\right) = \mathbb{E}\left[\frac{1}{2} \sup_{i \in [N_{1}]} R_{i} - A_{i} \le A\right]$   
where  $P(n_{1}) = P\left(\max_{i \in [N_{1}]} B_{i} + x - A_{i}(s_{i}) \le A, B_{1, r} + x \ge m_{i}\right)$   
First scall that  $B^{A^{n}}$  and  $B^{2^{n}}$  can be defined using  $3$  independent Boromian  
methods  $B^{n}, B^{n}, B^{n} = A_{i} \le A\right]$   
 $= p(\sum_{i \in [N_{1}]} R_{i} + R_{i}^{n} + A_{i} \le A)$   
 $= p(\sum_{i \in [N_{1}]} R_{i}^{n} + R_{i}^{n} + A_{i} \le A)$   
 $= p(\sum_{i \in [N_{1}]} R_{i}^{n} + R_{i}^{n} + A_{i} \le A)$   
 $= p(\sum_{i \in [N_{1}]} R_{i}^{n} + R_{i}^{n} + A_{i} \le A)$   
 $= p(\sum_{i \in [N_{1}]} R_{i}^{n} + R_{i}^{n} + A_{i} \le A)$   
 $= p(\sum_{i \in [N_{1}]} R_{i}^{n} + R_{i}^{n} + A_{i} \le A)$   
 $= p(\sum_{i \in [N_{1}]} R_{i}^{n} + R_{i}^{n} + A_{i} \le A)$   
 $= p(\sum_{i \in [N_{1}]} R_{i}^{n} + R_{i}^{n} + A_{i} \le A)$   
 $= p(\sum_{i \in [N_{1}]} R_{i}^{n} + R_{i}^{n} + A_{i} \le A)$   
 $= p(\sum_{i \in [N_{1}]} R_{i}^{n} + R_{i}^{n} + A_{i} \le A)$   
 $= p(\sum_{i \in [N_{1}]} R_{i}^{n} + R_{i}^{n} + A_{i} \le A)$   
 $= p(\sum_{i \in [N_{1}]} R_{i}^{n} + R_{i}^{n} + R_{i}^{n} + R_{i}^{n} + R_{i}^{n} + R_{i}^{n} + A_{i} \le A)$   
 $= p(\sum_{i \in [N_{1}]} R_{i}^{n} + R_{i}^{n} + R_{i}^{n} + R_{i}^{n} + R_{i}^{n} + R_{i}^{n} + A_{i} + R_{i}^{n} + A_{i} \le A)$   
 $= E\left[\frac{1}{2} \sum_{i \in [N_{1}]} R_{i}^{n} + R_{i}^{n} \ge m_{i}^{n} + p(\sum_{i \in [N_{1}]} R_{i}^{n} + R_{i}^{n} + A_{i} + P_{i}^{n} + A_{i} + P_{i}^{n} + A_{i} + P_{i}^{n} + A_{i} + P_{i}^{n} \le A + P_{i}^{n} + P_{i}^{n}$